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@ 0 ®) 1 © 5 (d) & & wré
3 cos 0 — 4 sin 0 =1 Afermay o9 /=47 27 ?

(@) -1 (b) 1 (©) 7 (d) 5

tan (765°) = ?
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11. Jcotxdn?
(a) tanx ¢ (b) — cosecx +c¢
(c) log (sinx)+c (d) =79 & ®rE T8
1
12 I(4x3+3x2-2x+1)dx-?
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(a) 2 (b) -2 (c) O (d) 1
13. %(sec_lx)-?
1 1 1 1
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0
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15. qmﬁa%ﬁ4mam%m%qammilmﬁmmm%?
@ 3 ® © 3 @ 3¢
2x+y 3 53 )
16. af% = @ x g y @ A e ?
6 x+2y| [63
(a) x-%,y-% (b) x~——l3.y--§- (c) xn'—;.yr]g (d)x=_—3],y=i3
17. Qi‘[x2+y2+231+2fy+c={]$ﬁ3"§$iﬁm@ﬁmﬁqﬂ: &—
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18. | =[2+— %1 order T4 degree FaTC |
dx
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(a) 7x + 6y —17=0 (b) 6x +7y —14=0
(c) x -2y =13 (d) 6x +7y +14=0
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‘839 HAifq’ (Doctrine of lapses) f&d Tasit oo & daftg &7
(a) &7 (b) @ranfew (o) = (d) sodsr
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‘|redr arered’ (Khalsa Movement) 3 smog Bear ar?
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(a) GEIERZT & (b) FHHRT & (0) MATHIETH (d) TR &
‘S e’ (International Court of Justice) &&f & 2
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‘T=perd forarEe’ & A fEa faar ar?
(a) 728 3HEO (b) gl wHT S
(c) T=SET AR (d) wEr g EE
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(@) geifeit b) FofemT (@) Rest  (d) 3 & B AE
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(a) m2m (b) azm
(c) smfiafda m (d) 399 & & T8
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(a) 40 (b) 13 (c) 3 (d) 16
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(@) 80v (b) 440v (c) 200v (d) 220 v
. iz & =fs 15 e ofy §dvs & uF wE 37 § 15 890 a afa q E,
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(a) 225 wiex (b) 300 HreT (c) 500 (d) 99 & HIE T
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(@) w3 & syl & (b) ST & I &

(¢) Svdaa a1 & (d) 38 & B T
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(a) 5@ | fFmo  (b) 5B [ We  (c) @A (d) 379 & g &
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BLLAT R | B 1 | B Y AT )

Rl o @Y Sy & AT T—
(a) THE vy gat &Gl € |
(b) wEat Rafier gaf e &1
(c) Tuar Refersr ol Tl &1
(d) Tt i g Rl St ST aedt & |

adur (Mirror) & fou P 8 & &9 wdr £ 7

(@) r=f ® r=2 © 2r=f (@ f=3r

TexHE (Rutherford) ® T g deiferg 23—

@ a-m7F (b)) B-FUE () y-mWF (d) 3 & oof
P (Switch) aef @41 SIIT & ?

(@ Zxawd () MWARE  (Q AT (d) T PE A
. T ST & fou g @991 (Mirror) &1 w1 fear simam &7

(a) ST (b) SETS (c) guae (d) 79 & &1 78
100 Q, 60 Q ToT 40 2 P TAGH fe e a1 2, afX gae Sofiwg ey ?
(a) 40 Q (b) 1400 (© 1440Q  (d) T & B¢ 7
X-feTor 1 g e 2—

(a) 3 x 10°i/do (b) 3 x 10"5i/Fo

(©) 4x10°%Fo () T & w7
&g Sfres @ (Half life) FUET g 32—
(a) 049 x &7 Rerti et
0.5 4 b
(c) oy (d) z79 & Eb*‘a‘ T
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(@) 36 x10°F® & (b) 36 x10°5@ &
(©) 56x10°5@ & (d) 9 & #i 7
At Fads G —
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(a) 75 & samm PR & 1

(b) gt & ag & gl T Freft wzan &1

(c) Tgalt & segwre €9 T & w=as &ar ¢ |
(d) =¥ 2 fafey qr i & &

afe a9 aegrn wrg, 1 TERGAT TONE H AH—

() ez wrar & (b) d¢ T & (c) Faw 7man & (d) o9 & wer &
CnHZn~lmiﬁ%F
(a) TwhT @ (b) TR B (c) TehrEA B (d) THH F FrE AE

CRERETREL TANEY TRAAAR Fi

72. @9 Ud H41¢ U1 & 39ad9a (Refractive Index) 21d1 #—

(@) 1§ &7 ) 17 3ffE (c) 28 e (d) 799 § F12 T2
73. &t SIS B—

(@) smafd & (b) HrF @ (c) Ssm & (d) FT @
74. Frafeflad 7 & &= @l (Vector) 87

(a) 9 (b) wfcr (c) a1 (d) smam
75. St & A=% (Unit) &7 2 7

(a) Az (b) Redmamr/gar (o) @ (d) Bfea

| D. ENGLISH |

Directions (1-4) : Read the following passage and answer the questions very.

carefully :—

Not only does the lack of education among women make the
dissemination of nutrition education difficult, it appears also to be a major
obstacle to compaigns for family planning. It is significant that one of the
more successful family planning efforts has been in Korea, where literacy is
over 50% Thailand, Singapore, Hong Kong and Taiwan have also had more
satisfactory results than, for example, Afghanistan, Pakistan, Bangladesh,
India or Indonesia, where a large proportion of the female population is
illiterate. The education level of women is significant also because it has a
directimpact on their chances of employment; and the number of employed
women a country’s total labour force has a direct bearing on both the gross
national product and the disposable income of the individual family.

76. Koreahasbeen successful in family planning because the Korean women
are :—

(b) well-educated
(c) literate enough to understand its significance

(a) well-employed

(d) exposed to nutrition education

77. The countries where family planning programmes has been satisfactory
are : -

(a) Thailand, Singapore, Korea, Hong Kong and India
(b) Thailand, Afghanistan, Korea and Pakistan
(c) Korea and Indonesia
(d) Taiwan, Hong Kong, Korea, Thailand and Singapore
78. According to this passage, a woman'’s lack of education has a direct
bearing on
(a) the GNP of the country
(c) the total labour force of the country
(d) her knowledge of nutritional value of food

(b) her chances of getting a job
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y Ortl]i 0tf tl?e R A ¥ E:;u::dl::‘lary (b) inferior (c¢) famous  (d) unknown
E;) ;ntns{be persuaded to plan their families . D_im"'ﬁon Oy Tty siee comreck COPH R o e
. following words:
(b) do not know how to cook nutrious food 99. Inflexible
(c) cannot earn more money (d) cannot communicate well (@) firm (b) fixed (c) stiff (d) yielding
Do as directed : . : 100. Diffused _ .
80. People called Gandhi, Bapu. (Change into Passive) (a) dispersed (b) loose (¢) rambling (d) concentratgd
81. He said, “God rules and governs all things”.
(Change into Indirect Speech) EA
82. Sheis...... untidy girl. (Insert Article) A. 7o
83. This picture (a) / is the best (b) / of the two. (c) / No error (d) 1. (© 2. (d) 3. (b) 4. (9 3 e}
: (Find out the error part of the given sentence) 6. (a) 7. () 12- ?:l)) 13’ E:; ig ((lt;:;
84. Afree'pressisnot'a privilege (a) / butthe organicnecessity (b) / in a free %tl‘: E;% 3 E;)) 18‘. (a) 19: (d) 20. (c)
society. (c) / No error (d) (Find out the error part of the given sentence) 21: @) 22. (d) 23. (a) 24. (b) 25. (d)
85. Pick up the mis spelt word :
(a) writing (b) lightening (¢) leutenant (d) lighten BEBRIES N 28. (0) 29. (b) 30. (a)
86. Gulf (Give plural form) s e 35 (a3, A ) 35. (d)
87. Greataunt (Give masculine word) 36. (d) 37. (a) 38. (d) 39. (b) 40. (a)
88. Give past participle form of verb — Bleed 41. (d) 42. (b) 43. (b) 44. (o) 45. (a)
89. The Queen Elizabeth is a famous British liner. 46. (a) 47. (b) 48. (o) 49. (a) 0. &)
(Pick out noun and State its kind) C. ==
90. The intelligent and educated group or class of a society or country. 51. (b) 52. (a) 53. (b) 54. (b) 55. (c)
ek ; (Give one word) 56. (d) 57. (a) 58. (a) ol (:) 2(5) ?:l))
91. Wolves : howl : : Crickets : ...... (Fill tn the blank with suitable word) a1 (b) gg (z)) 23 E:; gg &c}) 70: (c).
Direction (92-96) : Fill in the blank with suitable words given in the choices : ?,? E:; 72 Eb) 73: (@) 74. (a) 75. ()
92. fli)mfa has been wag)inf, here for her teacher ...... thr;e weeks. D. ENGLISH
a) for rom ¢) since :
93. Veena is married ( ........ Mr. Thaku(r.) o i 1o- 80, 51,89 I explagatn é‘@ 1 82. an
76. (c) 77. (d) 78. (a) 79. (o)
(a) with (b) at (c) between (d) to 83. (b) 84. (b) 85. (c) 86. _Gulfs. :
94. Ata party he is always ......... : 87. Great uncle 88. Bled  90. mtelllgents;; &
(a) in high spirits (b) in low spirits 91. chirp 92. (a) gg ES)) gg Efl)) 100 (d)
(c) in a jiffy (d) in the mire g © L ‘ :
95. Thefi::.... government at the centre will not last long.

(a) collusion (b) collision (c) coalition (d) coloration

96. Wineis madeina.........
(a) brewery (b) bakery (c) factory (d) wardrobe greay
: i W Va +b B 2l
Direction (97-98) : Pick up the correct synonyms for each of the following 2 (d) - acos@=bsinfa sl s
words. i, 3 cosO —4sin® BT AfHETT TH = V9+16=5

97. Fragilo = (b) tan (7650)= tan (2 » 360° + _1,f|°) =tan 45° =1
(a) durable (b) robust (c) tough (d) breakable

1. () sin'x+cos'x= %
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